exceeds the second number by 6, find the numbe
The sum of first six terms of an AP is 42. The ratio o
the 1% and 13" term of AP.

Solve the equation: “A+(-1)+2+...4+x = 437.
In an AP, the first term is 22, nth term is -11 and the s
common difference. b
Sum of first p, g, r terms of an AP are g, b, c respect
(a/p)(g-r)+(b/q)(r-p)+(c/r)(p-q)=0.

Three hundred sixty bricks are stacked in the follo
in the next row, 28 in the row next to it and so o
and how many bricks are there in the top most ri
rind the middle term of the se
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